Bergen County Mathemadatics League
Problem Author:

Steve Conrad

Problem Editor:

Dan Flegler
www.mathleague.com www.mathleague.com
Brief Contest Solutions #3 - 2007-2008

) O R T Totad Time = LShz
Lk 48k~ 20muns, Totd Distaae = 60k
Whm YORamfnr HO matins, ,
N 36 hafn, YO mins. .. km/hr,
32 (5) -G = -
3) 3 = 35-10-| —@,
3tues  Aiple
all on alt on
PO'/)'{S ¥- Ay Yy-éus
Lﬁmﬁ%: CQxcuno 3 lw'acs + 3x2
= yraumolecnle+6 = .
3-9) |\ n# | L .J;_J_,,oo
X)) | GXart) nti
,LU;XT‘—"JE " ""\ Led by s J"’\‘*’L-‘(La%:l-fb;:?j'
R0 Sumr T Teg 990 99 o
2%d 3
¥3 3

3-5) 30"z 96( and 3nt- 0 oo |- 3[ are ths 3l {M«&d 5% waves <999

9t & , (0= (o P |-- 9" are the 9 pwﬁc‘t Szcare.s <99
3(-9 = 22 ?‘u‘ﬂd‘ sGuares from (D — 999
~ 22 _ (1
So prb= 555 = as
Y
) y=x Metad T«
3-6 ' Mma . Ix ~0 ~[ 3
(e (613 M N, RS s Tyerexss
p *=1
1 K M»m madpt of #'P. Thusfor,

Metha L. Ate . 3 5 g= :y_f
Byn A, 2 3 () 53, )
15x=¢, Sox =¥ b+0 :}b:,ﬁ
Cmmsxm | x %% o 2 S

©2007 by Steven R. Conrad, www.mathleague.com

w)-° V'



